
https://www.pass2lead.com/4a0-104.html
2024 Latest pass2lead 4A0-104 PDF and VCE dumps Download

 

 

 

4A0-104Q&As

Alcatel-Lucent Services Architecture

Pass Alcatel-Lucent 4A0-104 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/4a0-104.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Alcatel-
Lucent Official Exam Center

 

 

Latest 4A0-104 Dumps | 4A0-104 PDF Dumps | 4A0-104 VCE Dumps                                1 / 3

https://www.pass2lead.com/4a0-104.html
https://www.pass2lead.com/4a0-104.html
https://www.pass2lead.com/4a0-104.html


https://www.pass2lead.com/4a0-104.html
2024 Latest pass2lead 4A0-104 PDF and VCE dumps Download

QUESTION 1

What are the two major differences between configuring an IES service and configuring VPWS or VPLS services?
(Choose two.) 

A. IES does not support QoS. 

B. IES has a configurable IP-MTU 

C. A virtual route table must be configured for an IES service. 

D. An IES interface has an IP address assigned to it. 

Correct Answer: BD 

 

QUESTION 2

What is the minimum Ethernet physical network MTU required for a Layer 2 service on an MPLS encapsulated SDP
with a service MTU of 1500? 

A. 1500 

B. 1508 

C. 1514 

D. 1522 

Correct Answer: D 

 

QUESTION 3

Which of the following SAPs will NOT forward untagged frames? 

A. sap 1/1/1 

B. sap 1/1/1:* 

C. sap 1/1/1:0 D. sap 1/1/1:1 

Correct Answer: D 

 

QUESTION 4

Which of the following best describes the flooding of traffic on a PE when unknown traffic is received on a mesh SDP? 

A. Traffic is flooded to all SAPs in the service. 

B. Traffic is flooded to all SAPs and spoke SDPs in the service. 
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C. Traffic is flooded to all SAPs and mesh SDPs in the service. 

D. Traffic is flooded to all SAPs, spoke SDPs. and mesh SDPs in the service. 

E. The traffic is not flooded. 

Correct Answer: B 

 

QUESTION 5

What happens by default on a Nokia 7750 SR when a null encapsulated SAP receives a frame with a VLAN tag? 

A. The original VLAN tag is removed. 

B. The original VLAN tag is kept. 

C. The VLAN tag is replaced by a provider tag. 

D. The VLAN tag is kept and a provider tag is added. 

Correct Answer: B 
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